
x = −2x2x221

x = 2x2x220

x = 3x3x219

関数の式

x = !518

x = −617

x = 3 ,−516

x = 3 , 715

x = 0 , 514

二次方程式

−1 + 2 213

212

4 − 2 311

5 510

3 39

58

15157

平方根の計算

(x + 9)(x − 9)6

(x + 5)25

(x + 2)(x + 6)4

因数分解

x2 − 49493

x2 − 8x8x + 16162

x2 − 2x2x − 35351

展開

no.1

x = x221

x = −3x3x220

x = 4x4x219

関数の式

x = !718

x = 217

x = 5 ,−216

x = −6 ,−215

x = 0 ,−714

二次方程式

2323 − 9 513

312

5 + 2 611

−3 210

5 59

38

67

平方根の計算

(x + 6)(x − 6)6

(x − 4)25

(x − 7)(x + 4)4

因数分解

x2 − 25253

x2 + 14x14x14x + 49492

x2 − 7x7x + 12121

展開

no.2

x = 2x2x221

x = 4x4x220

x = −2x2x219

関数の式

x = !118

x = −717

x = 7 ,−816

x = 3 , 415

x = 0 , 314

二次方程式

−1 − 713

612

9 − 4 511

5 310

−5 79

68

21217

平方根の計算

(x + 8)(x − 8)6

(x + 6)25

(x + 5)(x − 4)4

因数分解

x2 − 16163

x2 − 18x18x18x + 81812

x2 − x − 56561

展開

no.3
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x = −3x3x221

x = 3x3x220

x = 5x5x219

関数の式

x = !318

x = −517

x = 6 ,−816

x = 3 , 615

x = 0 , 814

二次方程式

−7 + 3 313

412

5 − 2 101011

6 210

2 29

38

14147

平方根の計算

(x + 5)(x − 5)6

(x + 9)25

(x + 3)(x + 4)4

因数分解

x2 − 16163

x2 − 10x10x10x + 25252

x2 − 5x5x − 24241

展開

no.4

x =
1
3
x221

x = −4x4x220

x = 3x3x219

関数の式

x = !518

x = 417

x = 6 ,−316

x = −4 ,−515

x = 0 ,−414

二次方程式

2727 − 9 713

112

1111 + 6 211

710

6 39

78

15157

平方根の計算

(x + 7)(x − 7)6

(x − 3)25

(x − 6)(x + 5)4

因数分解

x2 − 64643

x2 + 12x12x12x + 36362

x2 − 9x9x + 20201

展開

no.5

x = 4x4x221

x = 5x5x220

x = −x219

関数の式

x = !618

x = −917

x = 6 ,−716

x = 6 , 415

x = 0 , 614

二次方程式

213

101012

1111 − 4 711

7 310

−3 59

78

33337

平方根の計算

(x + 1)(x − 1)6

(x + 8)25

(x − 3)(x + 5)4

因数分解

x2 − 93

x2 − 14x14x14x + 49492

x2 − 4x4x − 12121

展開

no.6
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